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1. � X ��������
��� p(x) = (1/2)e−|x|,−∞ < x < ∞. !"#$� 
%&'()
EXn. (n *+,-. /)

2. 0���1� (ξ, η) 23456789�:
!"2 η = y ;<= ξ >�:��� p(x|y)?;< @AB E(ξ|η = y).

3. 0�����CD {ξn}E�:FGH ξ, {ηn}E�:FGHI C,JK����CD {ξnηn}

E�:FGH Cξ. LM ηn E�:FGNOPQ�I 
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4. YZ[\] Mendel ^_`a>!bcd*�efgh@>�ijk/l2mn!bopqr

8023 stuvw
#o 2001 s�xy>/z{l>|S
#o}�jm~�xy>/LM��^�����!b
��� 8023 stuvw
RM�� (�����) >�����X��p
Mendel ^��k0�X��I����:�/ Φ(0.05) = 0.5199, Φ(0.10) = 0.5398, Φ(0.15) = 0.5596, Φ(0.20) = 0.5793,

Φ(0.25) = 0.5987, Φ(0.30) = 0.6179, Φ(0.35) = 0.6368, Φ(0.40) = 0.6554, Φ(0.45) = 0.6736.

5. 0� ξ = (ξ1, ξ2, · · · , ξn)��� ���:
8¡* a, ¢£�¤* B, !"#¥¦� f(t) =

E exp(i
∑

n

k=1
tkξk), #o t = (t1, t2, · · · , tn).

6. §¨_H©Vª�:����CD>«� ¬­>m®¯°
%2±«0�>²³=´µ
JK/
7. JK^P¶7>·3��¸¹�Iº>/
8. »¼½¾7 (¿ÀÁ) ��¸¹ {Sn}, Sn = X1 + X2 + · · ·Xn, {Xi} ÂÃ©VNQª�:/Ä

n *Å À
 P (Xn = 1) = p, P (Xn = −1) = 1 − p;
Ä

n *Æ À
 P (Xn = 1) = 1 − p,

P (Xn = −1) = p. !Ç��¸¹ {Sn} �IºÈ�¿Iº>XJK�>RS/
9. 0¬ÉÊ 747Ë��ÌÍ 450�
�Î�ÏÐÑ 1000 /2ÒÓjÔ
�m4ÕÍÖ� 1000

 F×/z{Øb
ÙÚ�Ï>ÕÍoÛ^ 10% >�ÜÝvÞÜßÀà�áâ/Ü'ãäåæçèÐÏ ééê�HË�ë4 /ìmíê"î�>ÕÍïðë4À
ãäåæñò 1000
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